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I Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along with Question

1 - 5 .
Paper Booklet. Please read and follow the instructions on the OMR Answer Sheet for marking the correct
response.
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The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly

printed on the OMR Answer Sheet provided to vou. The Candidates are further instructed to ensure

the booklet code printed on OMR Answer Sheet is same as the Question paper booklet code
supplied to you.
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3. Changing of answer is NOT Allowed.
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» The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of 1, 2, 3 or 4 in the OMR Answer Shect with Blue/Black Ball Point Pen, as it is not
possible to change or erase once darkened.
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»  Use of Eraser or White Fluid on the OMR Answer Sheet is not permissible as the OMR Answer Sheet
is machine gradable and it may lead to wrong evaluation.
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l. Immediately on opening the Question Paper Booklet by tearing off the paper seal please check
for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions
(1-200), (jii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the
commencement of the test,
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. Electronic gadgets like Cell Phone, Pager, Caleulator, Electronic watches and Mathematical/Log Tables
are not permitted into the examination hall.

208 Thend*s JenSold JOFAE HOETBS eI OIS, bas, 50838486, QoERE TOw, §38/eg
2wEen wildodndd.

a

PTO


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

e

Adda247 Eoogle Play

PS Booklet Code ; B

6. Onemark will be awarded for every correct answer for post code 21, 24, 25 & 26 and Jalf mark for post
code 22 & 23. There arc no negative marks.
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7. Answers lo the questions must be entered only on OMR Answer Sheet by completely shading the appropriate
circle with Ball Point Pen (Blue or Black) only. -
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8. The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
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9. The OMR Answer Sheet will not be valyed if the candidate
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(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose, 1
EJows aomo HE0D SrO00S PEfost S FEBIS FousH T HEYoS' I8 (THIDID,
(b) Writes any irrclevant matter including religious symbols, words, prayers or any communication what
50 ever mn any part of the OMR Answer Sheet,
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(c) Adopts any other malpractice.
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10. Rough work should be done only in the space provided in the Question Paper Booklet.
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11. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end

of the examination.
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12. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
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13. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rolls.
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14. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall, Failure to return the
OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper
Booklet shall be taken away by the candidate and should be preserved till the declaration of results.
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NOTE: If any ambiguity arises in translations in any question, then the text/matter stated in English
version shall be treated as final, since the Question paper booklet is printed in two languages

viz. English / Telugu or English / Urdu.
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This booklet consists of 48 Pages including Cover Page and Pages of Rough Work
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[nstructions :
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PS Booklet Code :I—_B:l

Marks : 200/100

One mark will be awarded for cvery correct answer for post code 21, 24, 25 & 26 and /alf

mark for post code 22 & 23. There are no negative marks.
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Choose the correct or most appropriate answer from the given options to the following

questions and darken, with blue/black ball point pen the corresponding digit (1), (2), (3) or

(4) In the cirele pertaining to the question number concerned in the OMR Answer Shect,

separately supplied to you.
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Choose the grammatically correct sentence.
(1) We are living in this house since 2010.

(2) We have been living in this house since 2010.
(3) We have been living in this house for 2010.
(4) We were living in this house since 2010.

]

Choose the meaning of the underlined phrase/idiom.
In order to achicve success one should be realistic rather than living in a fool’s paradise.
(2) ambitions

() nosey

(1) false expectations

(3) greedy

Choose the meaning of the underlined phrase/idiom.

Almost all the political parties today love to play to the gallery.
(2) to become popular

(4) bring social reforms

(1) to be dishonest
(3) appeal to popular taste

Choose the meaning of the underlined phrase/idiom,

[fyou study by bits and starts you can never achieve your goal.
(2) Emotionally

(1) Regularly
(4) Inconsistently

(3) Seriously

|

Choose the appropriate phrasal verb.
The novice teacher finds it difficult to the naughty boys in the class.

(1) puton (2) putupwith (3) putoff (4) putout

3-B
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6.  Choose the appropriate phrasal verb.
Thecricketmatchwas — dueto hcavy rain.
() called off (2) called of (3) calledat (4) calledin
7.  Choose the appropriate phrasal verb,
Nothing on the earth can  the loss of a child.
(13 make out (2)  makeup for (3) makeover (4) makeup
8. Choose the correct passive form of the sentence.
The workers are painting the houge.
(1) The house was painted by the workers.
(21, The house s being painted by the workers.
(3)  The house was being painted by the workers.
(4) The house is painted by the workers.
9. Choose the correct passive form of the sentence.
Joe was driving the car so fast that it skidded on the road.
(1)  The car was driven by Joe so fast that it skidded on the road.
(2) The car had been driven by Joe so fast that it skidded on the road.
(3) The car has been driven so fast that it skidded on the road.
(4) * The car was being driven by Joe so fast that it skidded on the road.
10.  Choose the correct form of the verb.
John T.V. when the door bell rang.
(1) amwatching (Z) waswatching
(3) waswatched | (4) would be watching
11. Choose the correct form of the verb,
No one isallowedto  the trees in the forest.
(1y fell (2) fall (3) felled (4) fallen
12. Choose the correct order of the given jumbled sentence.
in India / art form / established ancient / street theatre / is a well
1 2 3 4 3
(4. 1,352 (@) 34,152 () 41,532 W 32451
13.

Choosg the correct order of the given jumbled sentence.
on seeing the / first time? / Hari think / what did / cobra for the
1 2 3 4 5
(1) “,3;152,5 2y 4.3.1,5.2 (3) 3,5,4,1.2 (4) 4,3,5,2,1

——
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Choose the correct order of the given jumbled sentence,

she would cross /Kalpana Chawla said /as a child in Kama / that she never dreamt/
1 2 3 4 |
the frontiers of space '
5

) L5342 (Z) 2,1.53.4 (3) 2,4,3,1,5 (4) 2,4,1,3,5
Read the following passage and answer the questions. (15 to 19 Questions)

Mano Majra 1s a tiny place. [t has only three brick buildings, one of which is the home of
the moneylender Lala Ram Lal. The other two are the Sikh temple and the mosque. The three
srick buildings enclose a triangular common with a large Peepul trec in the middle. The rest of
he village 1s a cluster of flat-roofed mud huts and low-walled courtyards, which front on narrow
lanes thaF radiate from the centre. Soon the lanes dwindle into foot-paths and get lost in the
surrounding fields. At the western end of the village there is a pond ringed round by keekar trees.
There are only about seventy families in Mano Majra, and Lala Ram Lal’s is the only Hindu
family. The others are Sikhs or Muslims, about equal in number, The Sikhs own all the land
around the village; the Muslims are tenants and share the billing with the owners.

15. The place described in the passage is a

(1) City (2) Village (3) Town (4) Barracks
16. How many Hindu families are there?

(1) Seventy (24 One (3) Five (4) None

Who cultivate the land in Mano Majra?

(1) Jains (2y Muslims (3) Missionaries (4) Hindus

Lala Ramlal is a by profession.

(1) Tiller (2) Priest (33 Moneylender (4) Sweeper

What is located at the western end of the village?

(1) Mosque (2) RamLal’shouse

(3) Peepul tree (4} Pond

Choose the word which is similar in meaning to the underlined word in the sentence.
Deforestation is responsible for the paucity of animal life.

(1) increase (2) shootup (3) scarcity (45 possibility
Choose the word which is similar in meaning to the underlined word in the sentence.

The building has been refurbished recently.

(1)« constructed (2) demolished
(3) disposed (4) renovated
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22. Choose the antonym of the underlined word in the sentence.
He relinquished from the role of a manager last month, I
(1) renounced (2) gaveup (3) retained 14) discontinued
23. Choose the antonym of the underlined word in the sentence. . B
We are sanguine about the outcome of the meeting
(1) glommy (2} happy (3) confident  (4) genuine
24. Choose the correct spelling, 1
(1) Dilema (;J Dillema (3) Dilemma (4) Dillemma
25. Choose the correct spelling.
(1} equipment (2) equiptment
(3) equippment (4) equipmant
26. Choose the appropriate preposition.
The custom is peculiar our culture.
(1) from () with (3) by (4) to
27. Choose the appropriate preposition.
Houses were builtin alongrow  the coast of the sea.
(1) between (2) beneath (3) under (4). along

28. Choose the grammatically correct sentence.
(1) Neither of the girls are willing to accepyt the proposal.
(2) Neither of the girls 1s willing to accept the proposal.
(3) Neither of the girls have willing to accept the proposal.
(4) Neither of the girls were willing to accept the proposal. 1

29. Choose the grammatically correct sentence.
(1) Ramesh said that he will be ready in an hoyr. {
(2) Ramesh said that he will ready in an hour.
(3) Ramesh said that he would be ready in an hour.
(4) Ramesh said that he be ready in an hour.

30. Choose the grammatically correct sentence.
(1) Roy came to the city last week.
(2) Roy has come to the city last week.
(3) Roy come to the city last week.
(4y Roy had come to the city last week.

6-B
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In questions from 31 to 36 each question has a sequence with one blank space. Identify the
correct answer among the given options that fits with the sequence to fill that blank.

31 0D 36 6% Mo PHoo', (B8 PHS A0 L EREHS wE P8 wr Gob. A
oS & YREITIE BOHF SSrpred) Kgod, & dD Yrdosed.

(3L

129 141, 147, 159, 174,

(1) 189 (2) 186 (3) 192 (4) 194
32. 101,105 114; 139, 188, "

(1) 309 (2) 270 (3) 288 4) 252
1B, L2683 » 915

(1) 72 (2) 106 (3% 124 (4) 176
34. BDF, CF,DHL, _

(1) EN (2) EKP (3) EIP (4) EIO
35. E50J, F72L, HI28P, K242V,

(1) A3B (2) G2IN (3) C36F (4) L288X
% BU.EOKM

(1) S 2) W (3 Q @) O

In a certain code, if ‘STATEMENT' is coded as ‘GFYFUMULEF’, then the code for

‘CONCLUSION' is
28 92 §6¢* 'STATEMENT & ‘GFYFUMULF ' §'6 @73, @iy ‘CONCLUSION’

Gng &6
(1) WKLWNFGRML, (1) WKLWNEGQKL
(3) WKLWMDGQKL (4) XMLXOFGRML

If FLRX =6 and EJOT =35, then DHLP =
FLRX = 6 o600 EJOT =5 waws:hd DHLP =
(1) 3 @ 4 3) 7 4) 8

Inacertain code if ‘“ABILITY" is coded as “ZYRORGB?, then the code for ‘CULTURE'is
28 APA 6 S ABILITY” ‘ZYRORGB’ &6 dR, @y, ‘CULTURE’ @308, §'6
(1) XFOMRFJV (2) XFOHGIV

(3) XFOGFIV (4) XGPHGIV
o . B .. |
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40.  Sunil has put his watch on the table in such a way that at 6 a.m, the hour hand points towards

North. In which direction, the minute hand will point at 9:1 5am?
(1) South-East  (2) West (3) South

DS 85 KBASrES0% wE med GEao 6 fobe HHCNOS, T Hokew By &gl
&8 Bordothddy &odi. ;csn;;gm Kon 9:15 o1 © HEcHBInsE e féoirbo ANE,
ATe ey Wrdod &Y = - -

(1) ehoHhdn (D sdses (3) &8eodn (4) &g

(4) North

A person P walks 10 meters towards South. s].'hcﬁ”he turns to his left and walks 20 meters
and then turns to his right. Then after walking 15 meters, he turns to his right and walks
20 meters. Finally he turns to his right and walks 10 meters, turns to his left and then walks
20 meters. The shortest distance from the starting point to his present position is

(1) 20 meters (2) 25 meters (3) 26 meters (4) 28 meters

P od o 558 S8 8d9m 10 Dbty Sbaréh. Sogd &5 B3B8 3P 804 20 Db
589, 35 HAVO IHk BOME. & oS 15 Db 6D, E5 HEVE YN 808

20 Moty ST, DIOM 85 KBS 3YIK 86, 10 Mbd S6D; © SHTE 8
DESBE BHIK 86A 20 Dobrth BT . BER BoHEBES Do Hod BIFE VLK

&3) T8 fo §dF drdo
(1) 20 D&y (2, 25 ol (3) 26%headp (Y 28 DB

42,

A man is facing East. He turns 45° in the clockwise direction and then another 90° in the
same direction and then 180° in the anticlockwise direction. Which direction is he facing

now?
(1) North (2) South-East (3) North-East

wE $g8 SrdnSH ehlogponT S, wdS fadirdo S0oen 8o (SIg)ads” 45°
BEAS Sdod, ©B BFS' $8@NE 90° ok Sthad Sg0E afs’ 180° S0AST,

(4) South

gk Qdvd 2 B¥% vhiSpor Gandd

(J[) 8o (2) whoso. (3) gaa‘%go’ (4) S8e2dn

43.

Ais 2 male. If A’s maternal uncle’s only sister’s husband’s daughter is B, then A is the

(1) Brother of B © 2 (2) UncledfB .
(3) ' Father-in-law of B (4) Broﬂler-in-law of B

Ao Hbtod. A G, HHErDH Gng, JBE FE8 FY GwE, St B eows,
odyd A

(#; B G308, ﬁ*ﬁd‘ﬂt‘bféa '
(3) B'@nE) SrSmsd

(2) Bow, $9 S Sod Gng), FEHE
(4) B awg, wd S eridHed

—
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Ram told a lady “you arec my meternal great grand father’s only grand daughter’s daughter”.

Then that lady is Ram’s
(1) Mother (2) Daughter-in-law (3)  Aunt (4) Sister

o5 w L“’” WY T wsRY Ed Gng, JE DHHTWD HEr3H” eand.

wiydy & L“} o) AA0E),
(1) £8 (2) &den
(3) &9 Bor Soid Bk, B0 (4 &G0

If Veena says “Sita’s father Raman is the only son of my father-in-law Mohan™ then Sindhu,
who is the sister of Sita, is related to Mohan as
(1) Niece (2) Daughter
(3) Daughter-in-law (4) Grand daughter
D Shoy, dold Trios, & Sy IS Bnf), of wf Sosrdth” ©d Jo ©od,

B B0 So0s reof.S: FRORFRISTS
(1) S8 Bo FEDD 0508 0Hdod (2) Huc0 bHdod
(3) S'den wHhedod (4 oo ©Hdod

46,

Among four friends the age of Mobhit is thrice the age of Karthik. Tarun’s age is half that of
Karthik. Anuj is six years older than Karthik but six years younger to Mohit. Then who is

the eldest among these four?
(1) Tarun (2) Karthik (3) Amyj (4) Mobhit

Sty Doghedt, Brird B0, Sohdy 585 Gng), Schiysh LHrddle, Eddd)

63808 ;So:’::mj 5‘6§ Sosodoyes® B0, wdd whardy 505 0B e DoddTren DI
50, ITerE 506-"3 Eﬁ.) Do oren DHard. wdyi T°0 SLDES R WE Saiide,aHse?

(1) s6%s (2) =B§ (3) wHd @ Arird

A bus starts from a place A and the number of woman in the bus is 3 of the number of men.

In the next stop B, 5 men got off the bus and 3 women got in. Now the number of men is
twice the number of women. Then total number of passengers in the bus when the bus

started from A is
wd DEFS0 $od pcheodds wf adydod Ho Hirde dopg, VoS Y YHDO

dopgest lé Hoik. wd 8 SHIE FID0 Be' efideh & 20:39) 00d addihic Yhhden

Bh S8 L‘cj_qm D&, T, I o Im’m&écdé’ﬁ Do dHowg, E‘"F Bomgss BB,
@ond A 5 0l 00BN & adgdodio Budgo @obeke dopg
(1) 44 (2 33 (3) 22 4) 11
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If in a certain code, 917 = 56 and 826 = 36, then in that code 735 =
25 EJQQE“S@" 917 = 56 $558050 826 = 36 wonsHt @ §&S* 735 =
(1) 26 2) 20
(3), 46 (4), 25

ity T
AtwamT l_travel[ing at 93 km/hr crosses another train T, whose length is half of the length
of ﬁ_TSt train, moving in opposite direction at 51 kn/hr, in 24 seconds. If the train T passes
a bridge in 1 minute and 6 seconds, then the length of that bridge (in meters) is

93 8.0./60. JKB0S* PoSredied) wf don T), T8 FEHS® do SIS 584
51 8.20/tf0. Brfos* $5a08 BIS* Boirsding) S00@E Jew T 24 VEFS' Lo,
Bev T a8 508355 méntsh | IMDBn 6 DESR 2G5 & 5088 6P (LIS
(1). 640 (2r 860

(3) 1065 (4) 1240

50.

A train 476 meters long crosses a pole in 14 seconds. A person takes 7 minutes and
5 seconds to cross a platform whose length is equal to the distance covered by the trainin |
20 seconds. Then the speed of that person (in meters/sec) is

476 . FEHRo ¥ Jen, wf Jowdns 14 DS’ Trendod. w Jw 20 "aéﬁeﬁ‘
BoSredose Srdsnst S5r538 FEHKe FEFESDH, wE 558 T oo
5 2ESS T8 Bk, Biyd o 558 Sng, o (RbdyBELS)

(1) )2 2) 1.3 J

(3) L6 | (4) 1.8

51/

SBmc city buses start from a bus station witha speed of 20 km/hr at intervals of 10 minutes |
and moving on a straight road in the same direction. If a person is walking towards the |
bus station on the same road meets the buses at intervals of 8 minutes, then his speed

(in km/hr) is _
2.8 2R QAN K00k F'Q)
Kotats 20 8.20. 3rB50E" 20500BEETHON. 63 GrToD wFPRS IV 4D Y
2§ 35588 & wigen 8 IWITY YoSEENOS" AHDHEE0T, O8I S50 (8.20/K0.06%)

.'::éf: BIRD) &0 Eir‘ﬁiﬁ“ ﬁs’:ﬂl STl 2,88%5* 10 2are woddines® |

|

b

(1) 4 | o ) 45

(3) 5 @) 6
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32 {
32. ;":« ?htfaj.‘?s A BaI;}d B are separated by 70 kms on g highway. One truck starts from A and
]0 er r?m oth at | 0:00 a.m. When they travel in the same direction they meet each
other at 5:00 p.m. and if they travel towards each other, they mect atgll‘(][} a.m. The

difference between the speeds of these trucks (in kmv/hr) is

Eé St do A S8aio B o dimine 85880 70 8.5 A Sod ¥ SEV2

} 5'{)&0& S8 |wHy. 10:00 a.m 8 2oheodthdamon. ©d 28 8% HosrBodndd,
00 pm. §, 28070 3HBK OBNES BasrBodSHEs 11:00 am, & Loodrom.

&3 Body LEy o dre a&:qigéci.;’m (8.0/K0.)eres
@ 10 (2) 12 (3) 15 (4) 16

Direciiqns for questions (53 to 55): Each of these questions has a statement followed by two
. conclusions I and II. Decide which of the conclusion(s) follow(s) from the statement. Mark

| answer as
' (1), Ifconclusion (I) follows.
(2), Ifconclusion (II) follows.
(3), If neither conclusion (I) nor (II) follows.
(4), If both conclusions (I) and (II) follow.
wHoo 53 Jo0d 5555 Jrdiden: 28S° (28 HHS” wl (HIE80, T Jowd Jody el e
(conclusions) esamon. SEESSI0 Dod IBS* J BsRDHen BHJGTEF M AgBoTe.

25508 (I) SrEdh oddD, b dSrmse, (1) e
w5508 (1) Sr@sh R, o d&rEso, (2) o
shdodes (D), (ID) &° 86 wSHHdbosEXFs, D J&rsSo, (3) &
Bodh edosidien (1), (IT) @k s, b Sdrado, (4) @ adigod

53. Statement: A company asked its employees to declare their income and assets; but it has
been resisted by the employee’s union and no employee declared his income.

‘Conclusions: .
)  Theemployees of this company have no additional undisclosed income besides their
salary.

) Theemployee’s union wanfs all the employees not to declare their income.
& Eod, 88 & giem 70 earoddn Hobotn wdiod P50

RSN
ey 5B whHASE. 5 & Dacko ARy Dodrol wfESahIs $08030
2 2.8 &6'gH &85 Tl 5o (HESoEBM. —
WS des (HomTed) | L
; ) & Eond g, o ghiResn S0 TR0T D 968 ©E5H) B0 BIreh D
[ 89.
Ao, GE'gHRE0EEd T BTred IBEIHOD Bebodsgd 5008,

) &gl ©o

=

11-B


webs72
Oval

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247
P8 | Booklet Code :

54. Statement: Chief Manager informed his officers not to read newspapers during office hours,
Conclusions :
)  Reading newspapers during office hours is undesirable.
)  Office efficiency will not increase by not reading the news papers.
Raso ;’naq:-g QUETHE 85 s hod s°ojochHin AWSID DocSrest o

VBB SESErEED Eéﬁoﬁm 2030, g4
VAT {éméaﬁm) L
), sogodhin 8o dScirest Fondion ShHl ©ImoEHoH5m

) oo s@lusH 363500 Soddo Sos Frgo FHgo DO

5 5. Statement : A bird in hand is better than two in bush.
Conclusions:
+. I)  'Weshould be content with what we have.
«; ) * We should not crave for what we do not have.

@ISS0 1 FES' Boch dPoo Kol WAS® &) a8 DY oen.

etododen (@U‘é’a‘m] : Jrva—
D 85 58 43S o Sodyy BosdBR. S
) 8 5¢ B2 T sTod Do dFor FHE LD,

56. A decorative toy is made up of asolid cube with an inverted hemisphere surmounted totally
on its top. The edge of the base cube is 5 cm and the circular base of the hemisphere fixed
on the top has a diameter of 4.2 cm. If the entire surface of the toy is to be painted at the

rate of Rs. 2 per cm?, the approximate cost of painting is Rs.
2.8 8¢3 P8BS 28 @gﬁ‘q‘.‘f;ﬁwa’n oogo S°00DNLN 2.8 VoSS 5508 SRS ERT K.
2059 veddn B vod FEI 5 0.0, SBAID VEFFIN Gy, Frargdsn
4.2 0.0, F5) B, Ingo GHOEIE, B $0.20. § &r. 2 SO3E, o
Fosnbk by 3wdo &) (ErFrebed’) Wik

(1) 328 2) 340 (3) 348 (4) 364

57 A corn cob which is in the shape of'a cone has the radius of its broadest end as 2.1 cm an
is of length 20 cm. If cach square cm. of the surface of the cob carries on an average fou

grains, then the number of grains on the entire corn cob is approximately
2§ $ofod BEEENS® GJ) INGHITY) F& D8, Ddoyons B8 agrdan 2.1 0.0
%8050 o 28y 20 20.00. & §& Fd) QONE), GHBFeD JKLOJ O 5,7200.20.8

o Hozow ;S“ﬁjé &oll, 8 PR e 333?,0 Hone Somg ﬁzs;m:o:;)n‘
(1) 562 (2) 531 (3) 525 4) 512
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| 38. The perimeters of the bases of a cylinder, a cone and a hemisphere are each equal to
22 cm. The cone and the hemisphere are attached to the circular ends of the cylinder on its
top and bottom respectively. If the height of the cylinder is 6.5 cm and the total height of
the structure is 12.8 cm, then the volume (V) of the entire structure (in cm?) is approximately.
28 JnHI0, 28 Fof o 28 BdAiYo @) srow MigFoder wEHS
22 0.0.08 5750, o5 Sobotn @gﬁ‘@*u:&: Rr>rf ad3Ye & ;’:Qgg‘ﬁuéc
pordo H00cixn §olariios” ST V8w, GIrHIN @), I& 6.5 Wo.L.
000IN & Ty Ango I 12.8 Ho.do. wond, & Bwdo JoypSn B, WD
Dodredn (V) (08 Do.d.od) GonoYm
(1) 324 (y 348
(3) 366 (4) 376

39. [Ifacopperrod of diameter | cm and length 8 cm is drawn into a wire of length 18 meters
of uniform thickness, then the thickness of that wire (in cms) is

10 47
| o.0. Tgddn 8 Wo.du. FEY Ko ¥ of 41, K08 SoodSn EOAS 18 Wb
PEH fo 86 Srd\8, o AN D), Howsn (o.d0. o)
| ] 1

1
M 35 | 2) 7 () 15 G T

60. A solid metal sphere of radius 6 cm is melted and a hollow eylinder of uniform thickness
| is formed from it. If the external radius of the base of the cylinder is 4 cm and if its height

is 72 cms, the uniform thickness of the cylinder (in cm) is

6 0.0, TEFES0 fe wE 1 S5 AFB05 €8A0D, TPAH0d NEBE Hoolhn EOAS
e maﬁné& 6&“@‘0&0?5& & PSS Sng), ardrg drargRrgsn 4 0.20. Sobcdn
) aéﬁJ 72 00.20. ®oN8, & m-a:;’m Bl V868 HodBn (Po..osf)

(1) 0.536 (» 0.568
(3) 0.582 (4) 0.624

An article is sold at 25% profit. If its cost price and selling price are increased by Rs. 20
and Rs. 4 respectively, then the profit decreases by 10%. The cost price (in Rs.) of that

article is
w8 S 25% rPSiK wdTdh. T FHFo Hdain el FhRood SOJT

br. 20 S008 &r 4 D008, cgfdn 10% SHh&08. ¢ $%9 FEFe (Erios’)
(I, 640 (2) 600
(3) 625% . ' C(4) 590

13-B

—T



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Iﬁ Booklet Code :

62. Kapilhought 120 kgs of Tamarind at Rs. 100 per kg. He paid Rs. 480 towards transport,

Rs. 60 towards other charges, and Rs. 0.50 per kg. towards taxes. To gain 25% profit, he
has to sell the product per kg. at Rs.

§06 120 85*e DogHododn &5 25,088 &r. 100 TIPS ok, vk & 480 %
TR SarerBomdd, 8r. 60 S 188 piyofmrd $28080 8., w8 otss dru 0.50 SEyS
AooESoms DDoBd. @dd 25% orgfdn FodIBIN) A 8° w§) 0tls @m&:’)ﬁ:b;‘:
&8 (BrFrosroe) ,

(1) 13575 (2) 132.50 (1) 131.25 (4) 128.60

63.

%{ekha Ihnught an item for Rs. 4000 and sold it for a gain of 35%. She purchased another
item with this obtained amount and sold it at a loss of 20%. In this overall deal, she gets

(1) 10% gain (2) 15% loss
(3) 10% loss ' (4) 8% gain -

B wf SHHBo Gr. 4,000 £, IR 35% oresEnSs wBoy. @ SHS S’ I6E
SH%0 £, D 20% S{3nSH 0Bk, & Inge TED Sok e TFodd.
(1) 10% ergsda (2) 15% SHs0

(3) 10% &S50 (4, 8% ergfdmn

64.

A father shared an amount of Rs. 33,201 to his two sons and their shares are invested at a
compound interest of 4% per annum. If the amount received by the elder son at the end of
2 years is the same as the amount received by the younger son at the end of 5 years, then
the share (in rupees) of the younger son is (Take (1.04)3 as approximately equal to 1.125)
28 Sod 6. 33,201 0 85 agd HiIrduk Hod, 38 ol 3OS 4% SESGS
_‘oéa::ﬂa:&"'aéga‘d). "Zagéaa’wdada 2 Dodssne ddad Fod Sndo, ARESE VeSS
5 dosE)8Hne Ehad o BEL0dH J8rSS0 o, DHKITrERI widD

(ErSronost) ((1.04) Gng, saponod dendd 1.125 m &ko'od)

(1) 14826 (2) 15624
(3) 17426 (4) 16382

635.

BPoSSORS IEID (ErIrehes)

A person borrowed Rs. 3,000 at 8% per annum simple interest. At the end of first and
second years he repaid Rs. 1,200 and Rs. 1,300 respectively to reduce his debt. The amount

he has to pay to clear off the debt at the end of third year (in Rs.) 1s

2.8 558 &> 3,000 0 HoSEHTIE 8% 2ro5G B THYS DT EEI. vk 8
RN éﬁoﬂ’ng’ﬁaé&% 30¢es Sobasn Todd DodGiidwe DIES I S, 1,200
Sobas0 6. 1,300 o BDoBS. w0 O BEntEs Surdd Doddiorogind wdd

(2) 960.75

(1) 936.50 >
(3) 975.46 (42 98635

M
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66. What sum will amount to Rs. 520 in 6 years at a rate of simple interest, if a sum of

Rs. 1.706.36 will amount to Rs. 3.412.72 in 20 years at the same rate of simple interest?
&, I,'?U{i.:uf 2 o8 IS eI Do TS 20 RODG)TR00 FrdE walg Iwgsw
& 3.412.72 wond, «d c:ﬁd:;ié Tk 6 RoJHESve Ferdd &, 520 o Do

RD) S0y dod
(1) Rs. 380 (2) Rs. 400
(3) Rs. 425 (¥ Rs. 360

67.

T:E:erg was one silver coin for every three copper coins with a numismatist. If 10 more
silver coins are added to his collection, then the ratio of silver coins to the copper coins
became 1:2. The total number of coins present in his collection now is

oF TRI0OH DEdoD I8 I B8 Jrdd ooh RS, uE Jod TBS TP
@08, D& 10 Jod THIwoD ©8) DESosH ﬁéiﬁfaiﬁﬁj& wdd I Ao 30d
30805 oA TBS0e S8y o S 12 sewss. Hse 68 5§ o Ingo TBIN

Sowpg.
(1) 60 (2) 80
(:":{' 90 (4) 100

63.

The sum of, a two-digit number and the number obtained by reversing its digits, is 66. If the
digits of the given two digit number differ by 2. then the difference between the two possible

such two digits numbers 1s
o¥ Sodose Hopgd, TIS wosodH Shird Bohm Sy Jopgdy Seodm SF)

Swgo 66. v 9QYS Bodoso Jopgs’d wosew HFIHEIL 2 wowd, wiredd Todkd
Qedly Dodosy Dopgy N, BSo0.
(1) 15
(3) 18

(23 16
4) 22

69.

A boat goes 30 km up stream and 44 km down stream in 10 hours. In 13 hours, it can go
40 km up stream and 55 km down stream. Then the speed of the boat in still water and that

of the stream (in km/hr) are respectively
10 Kobroe® nE BES PTHRE Sgad8 B¥S* 30 8.0, Hobcky PITrdIS® 44 §.20.20

3Hrods. ©b 13 fobee® PRE $3888850° 40 §. 0.0 Hocdn PTTeis
55 8.D.e0 Do, wond JoLEM &F) VES HESDHB0 Hodosw Pardransn

S&sm (8.00/K0.08%)
#, 5,2
3) 5,3

(2) 6,2
4 §,3
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70. The present cost of a machine is Rs. 10,000, If it depreciates at a rate of 10% every year, |

PS Booklet Code : .

it will be valued at Rs. 6,561 after
(1) 3 years (2) 3% years (3) 4 years (4) 5 years

w8 oDogSan RwE), @RS Jw0d & 10,000, @ Dod&do T JedS e |
TS0 0% wondS, ord Jend & 6,561 m sdaRd 5% HSa0%H0

1
el .3 Rod&) e (2) 35 RoNg) G
(3) 4 BoSssnen (4) 5 HoSdyEsne
71. If the 2, the 315 and the #' term of an Arithmetic Progression are respectively
3 1 1 :
?%, 5 and — 65, then the sum of the first » terms of this progression is
wE wolEESo 235, 315 S8csn nd doren SEHIHM '}'%,—;— S08030 —6% wond,
© WoSEHI08O G n dore Indo
1y 44l (2) 481 @ sk @) 522
4 2 3 4
2
7 2 6 1.6 - .
2. ; 8_ ) 3 “"‘}' of 13+ of E_E =
] T2 7 21 5
’ 4 ® = @ 1
iy 5 2 1o 10
73 If four cards are drawn at random in succession from a pack of 52 playing cards without!

-
16-B

replacement, then the probability that they are all ace cards is
.8 D& DESLS e 52 DESLH o Dob ET Sugd 288, ™S ¥ oo Sode |

$EEYS® ¥ Bodsor, Traald DE Snfo Srdyfor Y, 0l Toair s
e5ERE o Dowrdgd

|
(1) /54145 (2) 270725 3) 15925 (4) 260625
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74. If two numbers are chosen at random from {1, 2, 3, 4, 5, 6} at a time, then the prnbabilil}’
that the smaller of the two is less than 4, is

{1,2,3,4,5,6} %008 oSr&ySom Bokh wosed aSrd JobsLN, © Dol BopgeS Y
s0a Dopg, 4 go3 258 s3&"R8 fe éna;*ésé:
14

.4 1 I
s @ 3 @ @

75. Two dice are thrown at a time. The probability that the sum of the numbers on their faces is
a prime number is
Boch o w30 FHodTH. T8 SngroDn o Jopge dndo, a8 @ROS DoPg

ST ws fe E’aowaﬁgé

W 3 = 1 !
12 (2) 12 (3) 3 (4) 4
76. Where the island museum is located in Andhra Pradesh?

(1) Viayawada (2) Salihundam

(3) Kolleru (4) Nagarjuna Konda

o HE550 2E Beddne* JB odeyg SHWEEGHITO IHL FO?
(2) #TdTvodo

(4): TrEQITod

(1) dz=chad
(3) §8SH
The first split in the National Congress occurred in 1907 at the following given session
(2) Nagapur session

(4) Calcutta session

77.
(1) Surat session

(3) Bombay session
805 Frofine” IdE DO8 1907 S* (od DK H8rd3dod” AG)dobd

() &ro8 S5rdds0 (2) S SSeEds
(3) Fowron PEFIESN (4) Sofa JS3FSTSn

78. In Andhra, the first widow re-marriage was done by the understated.

(1) Gidugu Ramamurty (2) K. Veeresalingam
(3) Gurajada Apparao (4) S.MuddaNarasimham

es0(§e5* TnQBINGEE JHodd T axrfod T =80T
(2) ©. Jo6¥doifo

(1) Aoy omdosard
(4) oDS. Sng $820F0

(3) Mord eTTD)
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79. *The Khudai Khidmatgars” were also known as
(1) Black shirts (2) Yellow shirts
(3) Red shirts (4) Green shirts
“308 DEME)” & ddorr SraT PR
(1) S¢ Ssyw (2) HH TEYe
(3) AF Ty (4) eoDE) sy
80. Roman coins are found at various sites of Andhra that belong to the period of the following:
(1) Chalukya (2) Satavahana
(3) Kakatiya (4) Vijayanagara
808 28 S0ES588 BodS Swod® wogs*d Ioik |Fodros’ Gl FrBen §05" 0.
(1) =g (2) TS5
(3) s*E8o% (4) Deocddid
81. The following award was not presented to Abdul Kalam.
(1) Padma Sni (2) PadmaBhushan
(3) Padma Vibhushan : (4) Bharata Ratna
08 YOI ouS’ s o aduEdodad
(1) &8 (2) D& Hraed
(3) DEeried (4) erdssd)
82. The Administrative consequence of the Revolt of 1857 was the transfer of power from

one to another as stated
(1) East India company to the British crown

(2) The British crown to East India company
(3) East India company to the Governor General

(4) British crown to the Board of Directors
1857 @&ierin 2EgdFSon oIS Do ©esE Sr0)d wEd Hod 2508 cnwr

Jr008.

(1) Iéefgo&cﬁ? Eond Soo0d |DBQTE3S
(2) DBRB Hod &Y RodAST g0 08
(3) &Ro&air o Ko {585 3858
(4) OBETS Hob 5'§ ©D BEELE
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§3. Nannaya has written ‘Mahabharatam’ into Telugu at the following place

(1) Amaravathi (2) Nellote

(3) Rajamahendravaram (4) PedaVegi

SSyod ‘;‘337'.3‘&:“66‘?351’ B’ corfod Adyd (Fodos' (.
(1) eSosa (2) SexrsH

(3)r TrzSoiro|lsso (4) &3A

84. The Revolutionary that died in the Jail due to his hunger strike

(1) BhagatSingh (2) Jatin Das

(3) SuryaSen (4) Chandra Sekhar Azad
Zend” &3 JoFERE s ¥mormr 65008 DHSsrdd

(1) 2568 Dok (2) 285 o

(3) [rdges (4) Do$ips werd

“Kondakarla ava” is located in the following District

(1) Srikakulam (2) Nellore (3) Visakhapatnam (4) Krishna
“Fodid ud” & Fod ZereS” Foldd
(1) 35%¢o (2) Surd (3) dTwiywo (4p, A

6. Belum caves are situated in which District

(1) Chittoor (2) Kadapa (3) Srikakulam (4) Kumnool,
Beno HEren &F) BT 87
(1) DERE (2) &6 (3) 550 (4) $&mwo

'_"?. Lord Lytton was not associated with the under stated

(1) AmmsAct (2) Ibert bill

(3) Vernacular press act (4) Stratchey commission
g D8] B0 BwES g dowodo 5OB .

(1) wsosnrro Sisw (2). ang den

(3) ;I8 JBE Bho (4) FoO E0a3

Gandhi’s first satyagraha in India began in Champaran (1917), that situated in the following
State.

(1) Bengal (2) Bihar

(3) Uttar Pradesh (4) Punjab

EEBI0S® mod &8 Bk Berg ket DHGS ToFES (1917) 2 oo oes® Bodd.
(1) Borrd (2y &HE (3) wssBas (4) Sowd
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89. Who among the following was not a found

i’
¥

P8 Booklet Code :

; [ .
er of “The Women'’s Indian Association™

(2) AnnicBesant /

(1) Margret Cousins
(4) JeenaRajaDasa /

(3) Durgabai Deshmukh
< 1Bod o8eS* ‘B &Y mobcHS @@bﬁ;dﬁ;ﬁg @;ﬁéé" domnodo Ef";t}a‘ﬁa
(1) 359 525 (2) @D RO /

(3) Soorerd® Biswd 4) & T T

In the following who was not the son-in-law of Rudhrama Devi

90.
(1) EllenaDeva (2) Annayamathya
(3) Mahadeva (4) PrasadityaNayaka
& 1808 T0S° HIBHRD vk §TITVIE
(1) Qe T3 (2] oI5 Srég
(3) SoHES (4) ©rasy ToHE
91. ﬁ}t which session of the Indian National Congress ‘Vande Mataram’ was sung for the firs
fime :
(1) 1896 Calcutta session (2) 1908 Madras session
(3) 1895 Poona session (4) 1899 Lucknow session
‘S oBErESe’ BnEBTFO D S EckH sofs BErDFod a0 28Rk
(1, 1896 sosa; HBrRdo (2) 1908 Sogrie HSrERIO
(3) 1895 Irae dSrSdo (4) 1899 oF) Hirddo
92. Which of the following temple is very popular for paintings?
(1) Draksharamam (2) Lepakshi
(3) Simhachalam | (4) Ontimetta
Bod soSTrS] DFEEH HHE Db God?
(1) (@'sToSa0 @) S8 (3) DoTfiwo (4) 208304
93. Who among the following resigned to the membership of the *Viceroy’s Executive Council
re

R
20-B

as a protest againstJ allianwala Bagh Massac -
(1) Shankaran Nair (2) Dadabhai Naoroji

(3) Motilal Nehru (4) Subhas ChandraBose
Bod a°5° IS 20 arererh S8BB08 EHIM J oD Q0Ergd3sS T

HesgdgSndte Trdardr [T
(21 Tordd J62

(1) #0865 Foo
(3) Brdod IET (4) Bzl FoBAR
s
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94, One among the following has notserved as a Governor of Andhra Pradesh

(1) RamlLal (2) Sarad Yadav
(3) Kumud Ben Joshi (4) K.C.Abraham
§oB TS IS woERBT KASG)mr BT cHBE:
(1) o od (2) %65 oirdS
(3) Hsn& BS §4 (4) 3205

95. Gandhiji became the President of Indian National Congress in which session
(1) 1923 Kakinada session (2) 1925 Kanpur session
(3) 1924 Belgaum session (4) 1926 Gauhati session
g8 doh Soian D HArIFoS” mold @dg&oécﬁ:g?ﬁ:
(1) 1923 sdard SSrdio (2) 1925 iy ddrddo
(3)y 1924 Beors d5rDBio (4) 1926 T5e Hsrddo

96. The Simla Conference was held under the Viceroyalty of
(1) LordLinlithgow (2) Lord Wevell
(3) Lord Elenborough (4) Lord Northbrook

Ry HSrddo J JFe® 500" JEgIrosndod
(1) of 850K (2) of 336
(3) or§ BT (4) <f§ T8k

97. Jyothi Rao Pule constructed the famous organisation
(1) SatyaSodhak Samaj (2) Satya Parivartan Samaj
(3) SatyaKartavya Samaj (4) SatyaRakshna Samiti
X087 B F0EI oy S0
@) 2EgTEE Sdrao
(3) ®&gEgRg vSrEo

(2) »EgHOBES Jdruo
(4) S35 Daod

08. Telugu Literature was highly encouraged by whom?

(1) Percy Brown (2) C.P.Brown
(3) David Brown (4) Robert Brown

Bl AirergR) wdghEoT Ferodd TaN87

(1) b &S (2) 5.5, @S

(3) ada @«

4) oaf @ -

I
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99. In 1918 ‘India In Transition’ was written by
(1) AgaKhan (2) M.N. Roy
(3) B.GTilak (4) Lala Lajapati Roy
1918 &° BHBoDS ‘RoBAST 28 ErYQS Hodss
(1) eoryrsS (2) 25.98. 0%
(3) D.=.8wf (4) orer ORHBT O
100.. The rate of evaporation of water is inversely proportional to
(1) Areaofthesurface (2) Hunmudity
(3) Temperature (4) Wind speed
8 eSS Bt B8 IS Wrdordod® Gotnod
(1) s368€0 STOGEM (2 Eige'ﬁ
(3) s 4 o 58

101.

The intensity of scattered light is maximum for the angle of scattering given below
QNS D J08I0 Fed8 HBEIm 5708 &P [(10J0
(1) o0° (2) 45° (3) 90° (4) 60°

102,

Acceleration due to gravity is independent of
(1) Mass of objects

(2) Mass of the planet
(3) Height from the surface of the planet

(4) Radius of the planet

Kodods dcdradn BID SEEHEE
(1) SHxde |BS5g50°3

{3} 15 ¢Hbgoo ol I8 (4) @& argrdsn

(2) EEEn Do, G550

103.

If a motor of power 10 HP runs for 100 hours then the number of units of electrical enerey

consumed 18
10 HP avmggmsﬁm Srdrdy 100 Sodoeo QEHESEGJJES (1A Qacﬁn‘ﬂazﬁa&:‘ﬁ 3&5&55

odrddde Dopg
(1) 100 (2) 1000 (3 74.6 (4) 746

The audible range of sound waves for human beings in kI1z is

104.
ArdPhor ISEAS dry SEomO A kHz o&*
(1) 0.01-10 (25 0.01 -20
(3) 0.02-20 (4) 0.02-200

22-B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

PS Booklet Code : B

105. The *“Manganin’ used in standard electrical resistances contains
(1) Copper, Manganese, Nickel (2) Iron, Magnesium, Nickel
(3) Copper, Magnesium, Iron (4) Iron, Manganese, Copper
FS3rBs Dogs AFTeom T8 SrofdS'S' &odd
(1) oa, 3rokdS, J3& (2) =odn, Difcho, TE
(3 o, ofijcio, Fs (4) mddn, 5roKdB, ooh
106. If external force acting on a body is zero then its linear momentum
(1) Zero (2) Decreases
(3) Increases (4) remains constant
28 30D HITVD wrirguoo ¥FrSgin wond od BhHah ESgritn
(1) @S58 (2) oo
(3) &Meod (4) Dod0m ot
107. Identify the method involved in separation of components of liquid air from the following:
(1) Distillation (2) Steam distillation
(3) Sublimation (4) Fractional distillation
B39 Dobsrod IHACHEE SRdriol IFdod Bobadis® Hgowhhn
(1) g0 (2) 8 wdb RSN
(3) a&ysdo (4) ®03% &S0
108. Identify the pair of compounds which obey the law of multiple proportions.
2FcIE JoDNIEr) Fod IIHTe 2ok Hodw.
(1) Cu0O,Cu,0 (2) H,O,H,Se
(3) CuS,CuO ) NaCl, NaBr
109. Identify the pair of ores which can not be subjected to roasting from the following:

(1) Zinc blende, Copper iron pyrites (2) Galena, Cinnabar
(3) Magnesite, Pyrolusite (4) Zinc blende, Cinnabar
808 O 28 grédYon FPS BB SHBHE HEouEw

(1) =oE Bo&, 5756 B6S OIS (2) Bda, diyrd

(3) S»rifypds, n&engpds (4)- Bo§ Fo&, brd
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110. The only chemist ever to receive two unshared Nobel Prizes - one for chemistry and another

for peace 1s J
(1) Alfred Einstein (2) Erwin Schrodinger F,'
(3) Linus Pauling (4) Neils Bohr /

TBE 2TVHBD FHEHETROS HBosn o8 oD 36685 Botobom 2§70
BolFE wolkhE¥) dirahd TRIY |

(1) ©@)& 2538 (2) 055 @&oASE

(3) B85S 0ok (L) 2S) 5°6

i1k

The pair of stable covalent molecules in which the central atom is not obeying the octet

rule 1s
(1) Methane, Carbon tetrachloride (2) Beryllium halide, Boron halide
(3) Ammonia, Water (4) Carbon dioxide, Acetylene

SolB8 D850 oRE AohErY) FdodEansn IS %d@é&n‘* =) BS0BrEic

Lo =od

(1) &3S, 5°6)S BErsos (2) B6OGho TS, 'S B
(3) warRoir, A (4) sER-3-wB)5, 0BOS

112. Which pair of groups represent the most reactive metals, most reactive non-metals
respectively in the modern periodic table of the elements?
Sorose eIE 6308 HBES" odiRs Eoriodio o, vdidl Eoirlodio
westFen Ko |frd) =od I6?
(1) 1,16 (2) 2,17 (3) 1,17 4) 3,16

113. The colours of the solutions, when methyl orange indicator is added to acid and base
respectively, are
(1) Red, Yellow (2) Green,Red
(3) Blue, Red (4) Yellow, Red
WPS wdor ArdER iS008, 56 (rdody SODIHE JEYE Sohen S&dm
(1) 63, s () esobg, Ao
(3 deoo, 25D (4) D0, Q0D

114. Hydrolysis of X gives acetylene and hydrolysis of Y gives methane. X and Y are respectively

sodThm S656° X IHEOSSH, Y 2odssH auy. X, Y e Sdim
(¥) AlGC;CaC, (2) CaCyhALC;  (3) ALGsBe,C  (4) BeCALG
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115. Match the following :

List-1 List-1I
A) Transport of water from root to shoot I)  Translocation
B) Loss of water from stomata II) Osmosis
C) Bulk flow of substances III) Ascent of sap
D) Diffusion of water across semi permeable membrane IV) Transpiration
285 HS0

oo -1 de - 11
A) 3D Hod 5omrds I8 I8 ) FTodde
B) 3J@fore oo B FShIb ) Eaddse
C) dogo IS @ao M) @a'gdoo
D) ®f oddgdsso Tgor N8 g0 IV) eratydyso

Choose the correct answer

DO VBT R) D&0)57 %050
A) (B) © @)

(1):- IV [ II I

@ m ¥ 1 I

3) I I I\ I

(4) I I I\Y% I

116.

Special group of chlorophyll molecules undergo photo-oxidation in photosynthesis can

be designated as
Boensy HoRFHERS® Fod ehitnt SrEsd B8E 28 SHETge SInTarY

& Do BrOLE
(1) PSI(Pg0)s PSII (Pggo) (2)- PSI(P500), PSTI (Peyp)
(3) PSI(Pggo), PSII (Pgso) (4)  PSI(P+o0), PSIL(P70)

117.

Enzymes involved in both photosynthesis and respiration are
I) Aldolase ) Triose phosphate isomerase

[I) Hexokinase IV) Malic dehydrogenase
BSranidy HoddrfiBan H0on T BoB0t3S5*E IR JoBEa0en

I) Eegﬁé' ) GarsE 3"?0‘)5 DRFROS
o =rsiEds V) &r85 aa'ed8
(1} LILIX (» DLILIV (3) LOLIV (4) LI,
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118. Choose the correct pairs from the following related to F, generation.

. V)

- 3:1

- 9:3:3:1
- 1:1

S e |

I)  Monohybrid cross
) Dihybrid cross
II) Test cross
Incomplete dominance
F, 50808 Somobod ¥38 aduio §ob Tas0ed JEFRE
=4l
= GrAsdn]
-
B 5|
I, I, IV

) ¥ Ho¥s Bosbmsn
ity

)
IV) ododrg wirdgsdiso
(1) LILIV 2)

&Séoéd el {ef2a v ub)

$68 HoESrodw

(3) LOLIV

GET IT ON
Google Play
/ ;
Buuklct}?’odc :'

y,

4) LILII

119.

Observe the lists and choose the correct combinations.

~ List-1 List - 2

Monera Unicellular with no membrane bound nucleus  a)
Uni or multicellular with true nucleus b)
Unicellular with true nucleus c)
Multicellular with true nucleus d)

A)
B)
C)
D) V)
Bod daes KHdod HBGHI D¥oHoss hotod.

D
Protista IT)
Fungi 1)
Plantae

e - 2

$0508 JoEoke Q8 ¥ B

= - 1

A) 30 D)

B) &8
C) 39oFe®
D) &Syforego
(1f ALb
(2) A.Lb
(3) AlLa
(4) AILDb

B,1,a
B,II,a
B,ILb
B,l,a

) Judodorn 2 Bor wiv Sedd
M) J=doéode K Leodd

IV) Redogsode afv Sndd
C,Il,d D, IV,c
C,II,d D,IV,c
CIlc D,IV.d
C,Iv.d D,IlLc

List-3
Amocba
Bacteria
Fern

Mushroom

e -3
Bder
2008
5

ro LRSIy
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120. Assertion (A): Mitotic cell division takes place in body cells, while meiotic cell division
takes place in sex cells.
Reason (R):  Chromosome number reduced to half in mitotic cell division and same
number of chromosomes 1s retained in meiotic cell division.
(1) (A)and (R) are true; (R) is correct explanation to (A).
(2) (A)and (R) are true; (R) is not correct explanation to (A).
(3) (A)istrue and (R) is wrong.
(4) (A)iswrong and (R) is true.
IS0 (A):  DDHJPeS e) 8 Eeres’ akhiHios, wond obidn Jznd Pyl
oSt 2dhihéod.
256 (R):  d%odezd Fardde Sopg $mdd shodadids Sbako Fahide
DefesSSt Frdtoe ﬁospg .‘gsciom &otnok
(1) (A) 58050 (R)Bodsr £050&; (R) 08 (A) %o S80S dd0e.
(2) (A)S0bciw (R)Bodsr £6¢3053; (R) @b (A) 5 HOGES DS 5.
(3, (A)2BR0H HoBosw (R) S0GHIE s,
(4) (A)9BGR0isB s 08 (R) SOERO.
121. Ratio of tall and dwarf garden pea plants formed when a tall (homozygous) garden pea
plant is crossed with a dwarf garden pea plant.
CR i e ) {ﬁaﬁmﬁmﬁgﬂc} 0l 0§ 8 2N D0 S Jo8deo WodHde A3
S8 20050 FE aTR KO Ad.
(1) 3:1 2y 1:2:] (3) 1:2:1.&3:1 (4) 1:0
122. One of the following is not an enzyme. Identify it
(1) Trypsin (2) Gaslrin (3) Pepsin (4) Steapsin
Bob T8 wi Jogsn . T Kotowok
(1) & (2) W@E (3) 2 (4) BTy
123. Cold blooded animal with four chambered heart is
(1) Polar bear (2) Whale
(3) Penguin (4) Crocodile
Tenk Ko Kol ZOAS 2de d§ modhy fBoisod.
(1, &5 Jeoibuodd (2) @&dcfiwo
(3) =ofgs (4) Boed@
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124. Match the following :

No. of chambers in heart

Animal
A)  Shark [)  Thirteen
B) Frog ) Four
C) Cockroach Ill) Two
D) Whale IV) Three
| V) Five
8ol T8 28ddbod:
220¢805) $HoBSR He Somg
A) o35 ) SSS5rdd
B) &3y M) sooi
C) &°gos IMI) GBoda
D) é&dvofieo IV) Sooccdo
V) o2&

Choose the correct answer
26603 BSrTrIR) H8)E D0
A) B) (©) (D)

() mM v 1 V

2y M IV I I

(3) I [ v

(4 v m [ 1
125. Erythropoietin - necessary for the production of red blood cells is secreted by

(1) Kidney (2) Liver (3) Spleen (4) Bonemarrow

QBEEBerre 188 LIJVES WEFoNBID EIoWH

(1) Sorghodo  (2) sBodo (3) 3Fo (4y dS0% Hog

I

126. The slogan “Think globally and act locally” was given in

(1) Earth summit (2) Kyoto protocol

(3) Montreal protocol (4) Chipko movement

“TRO5om aestDodod - ﬁgméonﬂ é:}a&m:ﬁo&" 0l Do AN

(1) S018 [EBY (2) Egis* @estsS

(3) SroB3cHS PSS (4 229, erdsgioo
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127. Number of chromosomes in Turner syndrome.

LH0 PoFNS® God FErdHve Nomg

(1) 44 (2) 45
| (3) 46 4y 47
. 128. Identify the mismatched pair. B
| (1) Snowblindness - Infraredrays

(2) Green house effect - Methane

(3) Ozonedepletion - Chlorofluoro carbons

(4) Biomagnification - Benzene hexachloride

8o T8S® I8 a8 HBowod

(1) = Ec&'ﬁ:ﬁ - Hodoes Bderen

Q) 68 Ky Berso - HES
(3) &&'S §eoss - EE'Y8 5GP
(4 &35 a’:a%édm BodS WwENE0s

129. State bird of Andhra Pradesh.

| (1) Bluejay (2) Rose ringed parakeet
| (3) Peacock (4) Bustard
|' oSBT TG =&
[ (1) Foady : (2 oDl
| (3) 350 (4) wigs 38
| 130. ‘Ramachandra Panduranga’ is the other name of the following revolutionary
(1) Jagannatha Payak Rao (2) TantiyaTope
: (3) Atmaram Panduranga (4) SukhaDev
’ & Bob DpETHA HEEHE ‘Tl Froddor.
(1) =243nE Fchios (2) &odcsr &
(3) wemoo Frodddol (4) &o2ds
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131. In the state of Andhra Pradesh Upasarpanch of a Gram Panchayat is elected by the

(1) Voters of the Gram Panchayat

(2) Sarpanch ofthe Gram Panchayat

(3) Sarpanch and ward members of the Gram Panchayat
(4)  Ward members of the Gram Panchayat

BOPDBT TP BnS® wf rodoTrond G000 EE Bod T8 JV)BIoLrd
(1) % Somand &g '

(2) (™S Somrond I

(3) (l{m’:; QoTrond B0l Hbcin T8 Dby

(4) ™S domrond Ty Ddebgen

[32. The tenure of a judge of the International Court of Justice is
(1) 9 years (2) 6 years
(3) 3 years (4) 3 years
LodTBoH  FoPIBNS* el Tgahdard HEIT o
(1) 9 doSdore (2) 6 HosdTres
(3) 5 JodSs&orew (4) 3 Dod&yoren
133. English is the official language of the following state in India
(1) Goa (2) Nagaland
(3) Uttarakhand (4) Assam
e OSBFING' ) (§od TPINS” wolf i ©isY wham Sod
(1) &= (%) a&rrrerohy
(3) odopok (4) wmo

134.

In 1969 the Chief Justice of Supreme Court of India officiated as the President of India

[dentify the person.
(1) Justice S.M.Sikri (2) Justice K.Subba Rao

(3) Justice M.Hidayatullah (4) Justice PN. Bhagawati
1969¢5° ardd o086 DS Jgafdrdm &8 e O erdd o280
SgSrBowrd. a8 HBowod.

(1) =230 JIR.d0. (2) =R B.doemod
(3% =D . rdohéder (4) =238 2.23. $KSS
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{ 135. In the following case, Supreme Court of India gave a judgement that the Parliament has no
power to amend the basic features of the Indian Constitution
(1) Golaknath Case 1967 (2) Kesavananda Bharathi Case 1973

(3) A.K. Gopalan Case 1950 (4) Champakam Dorairajan Case 1951
g8 Trargofiand® SI9Y e 35008 wEsdo FdRA0EN% BE T8S ReSE

& Bod Etlon eﬁiﬁ.};}ﬁ)ﬂaoﬂ

(1) Aefsd 8, 1967 (2) Esodo8 ordd Edo, 1973

(3) I3 FroS ko, 1950 (4) . SoHES SooaS E, 1951
136. Directive Principles of State Policy are borrowed from the constitution of

(1) America (2) Bntain (3) France (4) Ireland

uBf drErod 1§ob Targoiitn $0b IIrold I

(1) oIds (2) o (3) @S (4, ooob
137. The house which is presided over by a non-member of the house

(1) Lok Sabha (2) RajyaSabha

(3) Legislative Council - (4) Legislative Assembly

Sees® ﬁaﬁ:gé: 5 358 éa:*f.ﬂg_@&n‘n =S d
‘ (1) &°5 & _ (2) o=g 32

(3) DS HBAS (4) Do &

1138. After bifurcation, the total strength of Andhra Pradesh State Legislative Council
og dFud SHITE soFRad o°g T H0Aé Dodo Jehgw domg

(1) 40 (2) 45

t (3) 50 (4 54

Who is the first person scientifically estimated the National Income of India after

independence?
(1) DadaBhai Naoroji (2) V.K.R.V.Rao

(3) William Digby (4) R.C.Desai
Fedo@gdoddsn S Ioodr e ?E&ncﬁo ﬁg@&'ﬁ{' 2 B3 Ero30H08) woar BRST

QD287

(1) oo T (2y 2.38. 6. 3. TR

(3) 2o an : (4) es&2. Bwod
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140. Which of the following falls under service sector?
(4) Hotels

(1) Handicrafts (2) Sugarindustry (3) Poultry
1808 T8S* HarsomrdE Bob58 DAY

(1) Besymen  (2) w§ys spEsH (3) §¢) L0FH @) Foh

141. Who is the father of India’s Green Revolution?
(1) M.S.SwamyNadhan (2) V.K.R.V.Rao
(3) S.Gande (4) P.V.Narasimha Rao
FESHE TS DS Berdodods 587
(1) do. I%. dgaEsS (2) 2 38 &8 2.0
(3) 8. mod (4) . 2. $820B* TP
142. Which of the following program was designed in the year 2000 by the Central Governmey
to provide connectivity of roads and transport to all villages?
808 &St 2000 3 JoSESNS* JodBebdio ', s TETgRD V) (TErol
O oo HITDES 880 28?
(1) PURA (2) SGSY (3) PMGSY (4) SSA
143. In which year the program Mahatma Gandhi National Rural Employment Guarantee Schem
(MGNREGS) was launched in India?
2 DoddyBos® Koo FEAH (PIre G0 T 20 rEERIS” PITOLDAIE
(1) 2001 (2)_ 2005 (3) 2007 (4) 2014
144. “Sri Bagh Pact” was signed by the Andhra Leaders at the place under stated
' (1) Vijayawada (2) Madras
(3) Kurnool (4) Tiupati
(Bods BHYAS B0 soFTchiien ‘3o wdondl Jodgsen Brdd
(1) Ddachad (2) S do (3) E&rmyen (4) &8ss
145. The Book “Castes in India-their Mechanism Genisis and Development” was written by
(1) MN.Roy (2) VD.Savarkar ‘
(3) MK Gandhi (4) B.R.Ambedkar
“s@n 0008 Q0805 - 36 5 A2, BIVD Vob BIoHDols” wd HomR) TS
(1) I%0.28. oo (2) 248. >>46

(3) cHS®3I. mobd €) 2.6 wodes
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E 146. ‘Mount Batten Plan® is also known as

(1) June 3" plan (2) July 14% plan

(3) August 15" plan (4) September 5% plan

BTolerdd PerdéS S28am Sra dana sl

(1) =78 3 Heor9E (2) =28 14 (Oe98

(3) &rR1S Herds (4) Dpond 5 Berds

147. Which session of Indian National Congress passed resolution on, ‘National Economic
Programme and on Fundamental rights and duties’

(1) Lucknow session, 1936 (2) Lahore session, 1929
(3) Karachi session, 1931 (4) Delhi session, 1932

T8 =8k sofR SSESE G DSrRFod wrdodH @Eé 5‘65155&5.)3 Sabadn |rEans
e, wrEgde AUdin’ eIrBoT s

(1) oFy 33rddo,1936 (2) o6 s5rS¥0,1929
(3) #ord HSB70,1931 (4) &9 H57370,1932
148. Gandhara Artis the contribution of the following dynasty
(1) Maurya (2) Kushana
(3) Sunga (4) Gupta
morrd d0yE¢ oo §obd S0y FRRSA0
(1) 33¢g - (2) %oarem
(3) Hoii (4) %
149. Who was considered by Gandhi as his political guru

(1) Bal Gangadhar Tilak (2) DadaBai Naoroj
(3) Maha Deva Govinda Renade (4) GopalaKrishna Gokhale
mod &3 oralohd HHIHT 50 raoTtd
(1) oS Komrgb 8ol (2) wmeron J078

| (3) 2B Do o3 (4) Frodyl fpd

- 150. Vijayanagara kingdom is completly disappeared with this battle By

'3 (1) Battle of Penugonda (2) Battle of Kampili
(3) Battle of Chandhragiri (4) Battle of Topuru
D2ohSHE FSsege & ddogod o SadoiiaBag o
(1) »ffed odngo (2} EoRd cingo
(3) dosns csngo (4) &rd ohodo
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151. Which is not affected by the ‘Policy of Doctrine of Lapse’.
(1) Sambalpur- 1849

(3) Nagapur- 1854

(2) Udaipur - 1852

(4)

TragloEson RFody wrOSIEIS IB?
(1) DowdsHrs - 1849

(3) &K5r8 - 1854

e

(4) @8&r6 - 1850

Berhampur - 1850

G alré - 1852

Swadeshi as a purely economic measure for the development of Indian Cottage Industry

152.

was preached in 1840, by

(1) B.GTilak (2) LalaLazpatiRoy

(3) Gopal Rao Deshmukh (4) Aurobindo Ghosh

184065 353% Soriged), 2r8acH K086 HOFSr NSRS &8 JgHB0H 6l Srgor FTHoANG

(1) .= &oF (2) wroroznHd oo®

(3) A>oocd B530F (4) w6dos 55
153. Match the following ) J

a)  Delhi i)  SirColin Campbell

b) Kanpur ii)  SirHugh Rose

c) Lucknow iii) Major General Home Lock

d)  Jhansi iv)  General John Nicholson

228080050

a) &d i) ®6 EOS 505BS ]

b) sEoyd i) %6 Swgh &8 f

c) o8 i) b 2588 F oF

d) &) V) =568 =8 JIESHS

(1) a(i) b(ii) c(iin) d(iv) (2) a(i) b(ii) c(i) d(iv)

(3) a(iii) b@iv) c(i) d(u) @) a(iv) bii) c(i) d(i) E
154. The length of a day is longer than the length of an year on this planet.

(1) Mars (2) Venus (3) Jupiter (4) Mercury

& (o s wEl e IR0 wl Yoo i §od IS

HBocko b b

(1) soerddd (2) D (3) 2Ty (4) engod _

155. The time difference between two towns located on the equator is one hour. The variation’

the longitudes of these towns would be
HErSHEBP D Ko Bolkd HET e Ky FRSFEEI0 0.8 Hob. & Sémre BgroT o sges®

(1)

157

(2) 30°

(3) 45°

(4) 60

a —
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156. This wild life sanctuary is the largest Tiger reserve in India
(1) Coringa wild life sanctuary |
(2) Koundinya wild life sanctuary
(3) Pulicot wild life sanctuary

(4) Nagarjuna Sagar-Sri Sailam wild life sanctuary

E & Sdgene wFairdngo rESdFos wE DY Yoo sE8E (Fodo
(1) &eomr 5&65@153 ST Ygo

(2) Tolsy 85> waiosrngo

(3) DOsE Sdg1red waicirSego

(4) Qs 36 - Ivo Syl wPcirdemgo

. The hottest place in Andhra Pradesh is

(1) Viayawada  (2) Kadapa (3) Rentachintala (4) Guntur
©oSHBS 0" Rososd wdgy oo
(1) Dzchod (2) 8&3 (3, ©oty Dode  (4) Hobard
. The lowest temperature recorded in a day:
(1) Before the sunrise (2) 02:00 AM
(3) 12:00 midnight (4) After the sunset
L85 wdgo) G adyd SIrsYsod
(1) JrEglosrds Swod [ (2) wdcho 02:00 Hobos
(3) wgo@ 12:00 fiobosd (4) Jrorghdocio Sogd
. Match the following :
[ ist-1] List-11
) Kambalakonda A) East Godavari
) Nelapattu B) Kumool and Prakasam
[I) Coringa C) Visakhapatnam
IV) Gundla Brahmeswaram D) Nellore
Eob 3R 2EDETWRW
DS - whee - 11
[) EozroFod A) &5y AT
) Jesden B) gdmen S8din [@05°E0
M &6oi C) dwepdtno
V) od @:I'E'myingﬁa D) Reozd
Choose the correct answer
ﬁﬂ@é DIrraR) I8)FRod0
(b I 1I-D IIA IVB ) 1-C oA TID IVB |
3 K 0B II-A IV-D (4) 1B O-C M-A IVD -
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160. The largest cropped area in India is irrigated by this method

(1) Canals (2) Tanks (3) Wells (4) Others
T EEQH0J50650 Dowrgrd IRPoS D wERE e &dgrdoss FHichndedHd
(1)  srendSen (2) BsJYex (3) e (4) =807
161. The Tea Research Institute is established at
(1) Darjeeling (2) Jorhat
(3) Ootacamund (4) Silchar
T Es80FosS* Bairs S8FET 800 ay), & %‘ﬁcﬁmﬁﬂﬁ
(19 =gdoisy (2) =for &S
(3) wdESodeosn (4) »end
-162. Match the following:
A) Hyderabad I) Sabarmathi
B) Lucknow [I) Tungabhadra
C) Ahmedabad ) Moosi
D) Kurnool IV) Gomti
Bod TE 2SHENOBW
e - zda -1
A) TETEE D %268
B) of&) ) &oons
C) &% o o) Soed
D) s&meo IV) fda
(1) A-IV B-III C-II D-I (2) A-II B-IV C-II D-1
(3) A-II B-1 C-1V D-II (9 A-lI B-IV C-1 D-II
163. This Prime Minister of India has laid the foundation for “Golden Quadrilateral”.
(1) Jawaharlal Nehru (2) Indira Gandhi
(3) Atal Bihari Vajpayee (4) Lal Bahadur Sastry
rE8BT0 G008, S WEdEo@ "R SHUNR"E Hrs I,
(1) 25556ersS JHo (2) =oBorrod
(3) oLd £IF%0 SFE QoD (4) i';.r:iﬁ' DTS TR _4__.._‘"
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164. Open Ballot System is followed in the election of members of

(1) Lok Sabh;.a (2) RajyaSabha

(3) State Legislative Assembly (4) Gram Panchayat

wrdoll LiJof Agso &fod Dghgod IFHNbos’ vwivodotaddiod

(1) °§ S (2) o=g I

(3} LTS S (4) S Dowrond
165. The tenure of Rajya Sabha

(1) Sixyears (2) Fiveyears

(3) Four years (4) Permanent House

G"’aagéaﬁ S eD8a0 8

(1) & Jod&oren (2) o6 dodéoren

(3) oo Dodoren (4) TS JF

166. The Constitutional Amendment Act that lowered the voting age from 21 to 18 years
(1) 69" Constitutional AmendmentAct (2) 61° Constitutional Amendment Act
(3) 63" Constitutional Amendment Act  (4) 66 Constitutional Amendment Act

5,830R SoDhHns 21 Sod 18 doddoross ol orargod SS38e Weyo
(1) 695 orergorl Sdden W40 (2) 6135 Trergoll P58 WO
(3) 635 orargod VSde W&o (4) 6635 orargori 3360 S0

167. The Fundamental Rights in the following articles of the Indian Constitution are available

only to the Indian citizens
A) Article 15 B) Article 16
C) Article 19 D) Article 29

680 oSN G’ (Bod YD) BESeT oS Ho (SENE iy w dd FHos SeER

e on.

A) 155 ©HEG=0 B) 165 &80

C) 195 (HEde0 D) 295 |H86wo

(1) AB (2) B,C
(3) B,C,D (4) A,B,C,D

:;168. The arrested person must be produced before the magistrate within a period of
(1) 48 hours (2) 12 hours (3) 24 hours (4) 28 hours

K:rdaoacﬂ}l‘é 5582 8ol &S JHBocros ) FgoRarg Ad SRS
(1) 48 fobew (2) 12 Hotoex (3) 24 foboexn (4) 28 Hodoexd
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169. The election symbol of the following political party 15 NO
(1) Rashtriya Janata Dal

(2) TeluguDesam
(3) Jammu and Kashmir National Panther’s Party

(4) Samajwadi Party
od ‘-;;5-?].;5“1 oo ¢ IEe Ddmo P 5°E
(1) ofich 285088

cle

(2) Bewrddo
(3) —23ny Sobcin 545 ILIS FodH TP
(4) RSrSze >4 - _1
170. National Voters Day is celebrated in India on
(2) January 2518

(1) January 26t
(3) ..*'*.ugustlﬁTh
erddtdoest sdah Lédd BS'HT Q) Qgrod 5

(1) 26, =556 () 25, 25506

(3) 15, =ridy (4) 26, SHoadd

171. Choose the correct sentences about Kuldip Nayar, who passed away recently
a) Hewasbom inKerala
b) He worked as Indian High Commissioner in Britain
¢) Hewasnominated to Rajya Sabha
d) He wrote “Beyond the lines: An autobiography™
23S0 5068008 HEED Soigs Ard) VOGS TEgEDOH KHBoBoE®.

a) &b SE¥oRost adjomrds
b) DLIT® 88 T EAST HdBIrdo

c) Oaghdth TIE Dol

(4) November 26™

d) “Beyond the lines: An autobiography”sdo e,

(1) a,b&conly (29 b,c & d only
(3) bé&conly : (4) a,b,c.d
172. The world’s first thermal battery plant maugurated in the following co =
(1) UsA (2) China FotnTH
(3) India (4) Japan
Bdowos” &0 §6)S wrghb Fols & Bos By & EoDosna
(1) waobs 2 s Ao,
(3) _mofiasr (4) was
_-_‘__-'__'“—-——-_._______________._--'—”‘
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173. The following player won the Gold medal in Asia Junior Men s Singles Badminton

Championship in Jakarta in Tuly 2018
(1) LakshyaSen (2) Subhankar Sarma
(3) Rupinder Paul (4) ChiragSen

2~8 2018 & 206" wBAS sHUEr 2~Iahs DT VoAG) BEPLR FTOLCLIASS'
BgEDEE ) ;oS s,

(¥ osgos (2) %oeoss 96y

(3) GrDbosd F& (4) DoR W

174.

‘Sadaiv Atal’is

(1) A commemorative coinreleased by the Central Government in memory of the Former
P.M. Atal Bihari Vajpayee

(2) The samadhi of the former P.M. Atal Bihari Vajpayee

(3) A Welfare Scheme inaugurated by the Central Government on 25122018

(4) A literary award sponsered by the Central Government in honour of the former
P.M. Atal Bihar1 Vajpayee

005 v wdhis.

(1) S8 Herddoo® obd DFB & w0 TH5Fo B0 HEbege e BRI S8
JrES0

() Srd DHErsSo@ obd D0 TE0r I

(3) 25.12.2018 & B0 Bebdsos (@GoPorinds Hoki Do

(4) Srd PErd Do whd 250 FEhcr TErgo Sod BI0d5eB QigntdR)
ey wad) -

(4) 83708 KendS efo ¥0)

B 175

On the eve of Indian Independence day, 2018 the following person was awarded Kirthi Chakra
(1). Sepoy Vrahma Pal Singh

(2) Rifflelman Aurangazeb

(3) - Major Aditya Kumar

(4) Lt Col. Arjun Sarma

o8 Fqdoggad'd)So, 2018 Roddom 88 S8 wardy oS Sg8

(1) Sron Sy TS 2oh

() DPSHE TIoNES

(3) Foub wbdgioird
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176. Expand KUSUM

(1) Kisan Unnathi Sochana Unnath Mahabiyaan

(2) Kisan Urja Suraksha evam Utthaan Mahabhiyaan
(3) Kiishi Unnath Suraksha Unnav Mahabhiyaan

(4) Kisan Utkrisht Suraksha Utthaan Mahabhiyaan
KUSUM 23608508,

(17 83 &350 Sa aHd TDHIrS

(2) 8S g oy 5D @S DIDASTS
(3) €2 &He Doy &Hs DIFPASTS

(4) 8>S B @H WIT ogs DIDDI

As per the RBI annual report for 2017-18, released on 29™ Aug 2018, the percentage of

177.
demonetised currency returned to the banking system was
29 erigy 20185 HEB00S Ouby wrgol wh modoir ToE ABLE 2017-18 BsEiw
QoSTES50 SFond S ergodoh YordE 8BA Swyyow. ’
(1) 943 (2) 98.3 () 993 (4) 100

178. The Egyptian photo journalist who won the UNESCO press freedom prize 2018 is
(1) Mahammed Hussian Zaidi (2) Mahammed Durani
(3) Mahammed Abu Zeid (4) Mahammed Yasir usman
UNESCO (08 ¢S (& 2018 3 2083 $2000S H5° 2597 IS56H?
(1) Sos=sns oS 88 (2) BoT5E ST
(B) Sodrind war O (4) T56 b6 SR

179. “Vruksha Rakshak™ is

(1) a special task force of Government of Andhra Pradesh to protect the Red sandal

wood trees
(2) a vaccine invented recently by the scientists to save trees from diseases

(3) aTree Ambulance service launched by the Government of Andhra Pradesh

(4) ahospital established by the Forest Development Corporation of Andhra Pradesh
“S38 6EE” @SB

(1) /2oSRaT @abds JFHodo B dEm §'R0 AoodS HEgs LS, 6)
(2) Do e Ty Dobd S§o $9TEIS TFIges utise §50S) Tg8)o
(3) woEKET BibEo |ZEoHoS & Body)

(4) ©oBE F0F BIOTDoS OIS FTHoLS 2,¥ S E
e e I
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| 180. In August 2018, which country banned

. atirie s the sale of existing homes to the foreign buyers in

e prices and risj . -

(1) Sggins mmzl;cmsel.osaness in the country?

2) Bwitsdnd (4) NZW Ze:land

28000

e 5“:;%‘ 3% G0, ITFDLSDH Icho@od isSns’ 85 dfos* V6O HyFra
e.na'g'g; @353%5}’(51‘53 EHE;:_J 201865 Do DHoNS B¥o 287

(1), woldrs (2) Beool (3) E’qsegu;oﬁ (4) $5T£25ET05

—

| ] ‘ T L] - - #
181. I\.m_:m School Assembly’ is an innovative, effective concept to absorb vitamin D through
sunlight for students. This is a part under the

(1) Project Dhoop by FSSAI

(2) Project Vitamin ‘D’ deficiency by FCI

(3) Project Sunshine by FSSAI

(4) Project Surya Namaskar by Government of India
;)m*g%m 2rdgsto8 So0d LI DA Herowards “Sogrghn FdFo wrod” e
DErS), PrSS50SToS wrdsS L §od @RES® arifo
(1) FSSAI &8 (&5 &0

(2) FCla8 | Fa§ QLS '8’ @phch) (VDD)
(3) FSSAl =0 \&3§ SRS

(4) erdd (Habdgo IO “a’:\rdséaﬁag‘\'}’&gﬁ B

§ 182. Match the following.
2) BRICS Summit, 2018
b) BIMSTEC Summit, 2018

i)  Johannesburg
ii) Quebec

iii) London

¢) G7 Summit, 2018

d CHOGM -2018 iv) Khatmandu
2EI6E0b.

a) BRICS #8370, 2018 i SrSns
b) BIMSTEC % srB0, 2018 f;‘? &k

¢) Gyosrddo, 2018 ::)) ::;&J

d) CHOGM - 2018
(1) a-i, b-ii, c-iii, d-iv
(2) a-ii, b-i, c-iii, d-iv

(3)  a-i, b-iv, c-ii, d-iil |
{4) a—i"r’, b-1 li, c-ii‘! d-1 2 _—
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e Minister Narendra Modi for hj

183. Seoul Peace Prize 2018 was awarded to the Prim
contribution

(1) Towards disarmament
(2) Inpromoting peace talks between South Korea and North Korea .
(3) To improving international co-operation and fostering global economic growth

(4) To promote harmony among Asia-pacific nations
% 808 GoKos® B EEMTS JBIrE To8 v 2018 H058)0°08 DT RD0g

$BoEIrd dobEasrmgd.
(1) QdorosndEse

(2) &8 FBcir, & §0dire MGy To8 SO =yorololdet s

(3) wodgdoh HFsddn, Phod TP 2 0FrododRadEo

(4, ©doir - SHHE DFe Hdy THoIgY) ToTFrobodSodasy 3

184. Nomadic Elephant, 2018 1s
(1) afirst baby elephant born in America through cloning technology in 2018

(2) itis a joint military exercise of India and Mongolia

(3) itis ajoint military exercise of Mongolia and South Korea

(4) itis a joint military exercise of China and North Korea
Nomadic Elephant, 2018 e3&

(1) ERoh BEcH ogo 2018 &' w3rdss” PPS &0 Ao He
(2) or8S Sooffdcsr Bre Hocdug PAE ITER0

(3) SoRdosr, B§m 00T GFe Hoding PIE T g0

(4) [, &&6 Foor D7 Soding RIS TR0

185. Gurudas Agarwal was
(1) A civil engineer working in Namami Ganga project who died in floods of Gangail

July 2018
(2) An economist to assess the project cost of Namami Ganga
3)

An environmental activist died in Oct 2018 after a hunger strike demanding to cle#
up river Ganga

(4) A Human Rights activist died in Oct 2018 in a terrorist attack in Jammu & Kashm!

K60 wlogS

(1) S50 fom SBES HIBIe 2~ 20188 fomsa S660s” Sodbod IS aozd

(2) SS5ra Ko FBEE D5 Qorsar D SIBE]

(3) fomsad sernge 00 SfoTed FHEr ITHEHE B3 eFfas 2018s" H5H07

dorgdde I
05wt 2018 &° ey 520050 RS’ ST DO 8 &° SoBoDS SrSSTHY

GrdgSo 5r8gEY :
42-B = 3

(4)
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186. The launch vehicle that injected two satellites of the United Kingdom into orbit on
16" September 2018 from Satish Dawan space centre is

(1) PSLV C40

(2) PSLV C41

(3) IRNSS 1H

(4) PSLV C42

SARGTSS woddg Boo H0od NITE S0AdI0E Tobd Bodd GHFTTON

Do 16, 201838 $555°8 DITHES TrESE
(1) 2obhDIED C40

(2) DoHSISD C4l

(3) 2u6253%2%5 1H

(4 oHBDAGD C42

187. InDecember 2018 the Reserve Bank of India appointed the following committee to decide
the appropriate level of reserves needs to maintain by the Reserve Bank of India.

(1) Raghuram Rajan committee
(2) C.Ranga Rajan committee
(3) Bimal Jalan committee

(4) R.N. Malhotra committee 3
r88cd Badyg ergody SE Doben A D088 HoTON woTR) JFonoHeH

2018 Boebe’ erdlicd Bady wrgeb & (§od $8I JoHodos.
(1) sdporn oz 08
(2) C. doloras 804
(3, DHod mers EDE
(4) RN. & |8 E08
188. The cyclone that devasted the coastal boarder of Andhra Pradesh and Odisha in October
2018 wasnamed as “TITLI’ by the following country
(1) Bangladesh (2) Pakisthan
(3) Maldives (4) India
w8 20185° BoEHBT Sr8a50 2.bI) VOFR BEFoerd) $6380DS dadrsokh ‘@8

TSESwmo DS BYo
(1) womrad (2) >EXS

(3) Sr@Pes (4) =modob
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inistry of Housing and Uthey
ked first as the easiest ity .

affairs, Government of India in August 2018, w

live in India -
(1) Navi Mumbai (2) Greati Mumbal

3) Pun (4) Ramp N

- B e S 2018 &° Ease of living Index 3

Told Ay Jobctn HyedgsSiow So0|@ES . & ke S A o
3038008 DIBE Bsdo arssBios* Ease of living A ® S
wdodod.

(1) %D Sawoerow
@ @3

(2) @6 30000
(4) ooFd

190.

: ; a1y i
The focal theme of 4 IISF (India International Science Festival)-2018 1s

(1) Science for sustained growth

(2) Science for peace
(3) Science for transformation

(4) Science for Vigyan

45 IISF (m0605r Qo&d)ass &) Dpsd)-2018 Sng), FES 6
(1) RE 09588 TR ;o

(2) 7083 TZdESo

(3) HoRgsE T30

(4) DepSo K Ty Jepdo

121,

Who among the following are women recipients of Noble prize 20187

a) Malala Yousafzai
b) Donna Strickland
¢) Frances Arnold

d)  Svetlana Alexievich

2018 Sfa0d 208 & ol T8eS* FolS Boirden
a) Soerer drduod

b) &' @5l

c) @S wong

d) g edfdd

(1) aandbonly (2) bandconly (3

) b,candd only (4) candd only
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192. The Leaders and dignitaries of those Nations that involved in the World War - [ met here

on 11.11.2018.

(1) Paris (2) Berlin (3) London (4) . Masco

S0085€3 @':f:m:ﬁoﬁa:céoﬁ‘ Qo060 PN) BT veIden Hooin el dsdes 11.11.2018
868 28,8 JSrIFiocirgl.

(1) 68 (2) BBS (3) wo4S (4) Ssay
193. Which of the following is the Regulating Authority of Capital Markets in India?
o8 T8 rdddios’ Sureds Srh b Aaho@od V0P 6?7
(1. SEBI (2) RBI (3) IFCI 4) WTO
194. What is the experience of the Indian Economy related to International Trade?
(1) Trade Surplus (2) Trade Deficit
(3) Balance of Trade (4) Balance payments equilibrium
BOSTHCH FFo V8 Jowofod) 8 ©BE 5359 wddSo DDoe3?
(I} 885 oroen (2) Sg§ s*ew
(3) 368 JdFego (4) ¢ DYoo Fa IHTog0
195. How many commercial banks were Nationalised in India in the year 19807
TESBE¥0s” 1980 S BoS&ESns® =r8ado dohads oy argofie Jopg 257
(1) 3 (2) 14 (3) 12 4y 6
196. Which of the following is said to be Third Pillar of the World Economy?
(1) IMF (2) World Bank
(3) WIO (4) UNO
©HoS w8 S5 Sor 5% Dogorr 2T S8 A8?
(1) wodgdod (Eugad (2) BB argosd
(3) BHow rdag POy (4) oEgorg So&
- 19I?. According to 2011 census, which district of Andhra Pradesh (after bifurcation) recorded

the least sex-ratio?
(1) Prakasam (2) Kurnool (3) Knshna (4) Ananthapuram

2011 zarer TH O w5 do so|$IDBT (Def22S ©50880)S" wdgo) @~é}d&ﬁ AAYG S0
Tbd 2ar D67
(1) @sdo (2) gSmeo (3) 83 (4) wSogHdo
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198. Expand NETA

(1) National Electronics and Technology Agency
(2) National Emission Testing Agency

(3) National Electoral Transformation Application
(4) National Energy Transformation Application

NETA 2 D%8ow50

(1) 3338 doERE wob Bwd B

(2) QIS 2088 Bohi DBY

(3) JAIS JoFES ErSpbons wPsAS

(4) IAIS IS ErHHsHAS ©uBAS 5 E

199,

"The man who got ‘Uttama Jeevan Raksha Pathak’ award for his b

ravery in protecting

52 Amarnath passengers from terrorist attack was
(1) Lt Col. Rajit Kumar (2) Shaik Salim Gapoor

(3) BabluMartin (4) Decpak Sahu
ST tho 008 52 5008 w68 @r@hedH FTHos s ar&Sodiiom “ﬁé;s;.

E5S U5 SEET 0T wothEal) g8
(1) BRIl S sudtodrb (2) “af $90 86
3) wor 005 (4) 6355 %o

200.

Which of the following are correct regarding Jnanpith Awards.

a)  Jnanpith Award 2018 is 58" Jnanpith Award
b)  First time in history of Jnanpith Awards, Jnanpith 2018 was awarded to the litarary

works in English language
c) Amitav Ghosh was honoured with Jnanpith Award 2018

d)  Ravuri Bhardwaja honoured with Jnanpith Award 2018

%555 et Jonodon £ (Fob FHS® TS,

a) 2018 g;;ﬁ::éi_ w8y - 585 S0k Shylee

b) ershE varfe SBESTS IndBFom 2018 b6 OTES WK Grar ot
DRd Hhsmd wdg@bol &

c) 2018 aa;;ﬁi:é Bire - o085 35°7

d) 2018 g;r‘t')*;’)g el - ooagrd Eﬁ'dﬁ“sa

(1) a,b&conly (2) b,C&dcmly
(3) a&conly (4) b&conly

46-B



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

